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10.

- T whee gfe ow s @ fwom wmE d aME s srEeE
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.wﬁmmﬁrﬁ#mmmwnﬂmgﬁnﬂﬂmmmﬁﬁﬂnﬁﬂﬁmw.mmqm

B 9B wwm wwEw e A w0 oal v b, @ o wd o gigen @ w6

. T e T R OMR s-vaes 1 afem e o e e o oiten qften sgsm A, B, C T D 9 o |

wE farn fdt g o fenfd % w o eae w O P aofaam @ 3 e o wen f s/ i
it s @ Te-aew fvem aw T oo i

foreen B1 wfiem g w o goe 3 Tl

WA R # 120 s (w) fin mo§) wee i fisd ol anief d6 8 ww 8wl g @ W o
() f2u T R FW A U v oA A, T s Im-vas W osifE we W ) s s e oed fs ouw A
wifers S W B, A 30 we A sl o e W e e % R e v A e T

. WME W h g e A o Tene w f sifen w0 #) e 4 o Rl R
. |t wEi ¥ s wEE R

.y wee fif s ol gfen & Bbe s & o seewes wostee wen e ek, s T g oA

U st % s T Fan I §OE 8

A A Al Ul ) aw-uns W Wil S A T e F FENA W e a-usa i w0 g # ) e el

AT ghEe e O = E R e B

w8 wm & fom guw, wiem gfeem & w3 #§ dem B

e Iwit & fevg gom

weyHE wr-uEt ¥ FedmEn g e mw ovem awt & fim gee R s

(i) = ¥ F fern = S T 81 vefiean om e we i o e om v e aw & fom wee g Fem
s W Tw-Tred o= F w8 = s

(i) =i FE IEaEn v A wAfum Bk, W o e T o e, wefs fo o s § A uw T wd e B
i ot =0 w7 % o Iugeemgem ) = w2 e s

liii}EWm#ﬁmﬁ?ﬁFar.-::rmhaqh:nﬂammmqﬂfam-mt,ﬂﬁmm#m#m

e

R A wEl gn wiam gitren wies w1 9 @ W owm W 9w

Note : English version of the instructions is printed on the back cover of this Booklet.
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1. ¥ Ao Fregs F=fafaa § 3 Fee gom A 4, o wrE, S fafew g 1859 A wiRE e

TEhd o Arhe 947 T o1, FrafafEa § @ e G = gt
=l BY
e faferam wias
- (@) Y FFEG-TA F FE HEA Gl TE
(b) HraagR T uill
mits (b) WEER =R Wwa (FeEEl) & we
il BEAENE ® ged-uAl Fl AuE FEd
(@) frfs gk = o % fore wRf
(c) 4f sgau-T1 wEEd g Ferfem =€
g |
2. <& F9% Ued fufem, 1879 H =i . B
H ¥ form 32v9 % wiy wrfufrafie e ot (@) T sEu-vdl B Auar e@ a6 & fom
Bt
() SeEa fFr o afed w1 s =
5. 1857 ¥ fade ¥ i # v & R S e’
(b) wEE i et W R ) & A Y S S n?
faira wemas gl e @ TR
(c) FomEma et A # fesh, =l (b) e EgEE WE
=ferat i forg s o wfoEy e
(c) = wifea
(d) Teafem afed H1 FrE geEm w=5H ™~
FH
6. 1856 % GRiW (WWR) wughar Fr=fefaa 9 &
3. Rty wer W afE-3-Fr W e form guTon W ST 7
Frafafaa # 4 fra agEm + =90 % fog
e T o (@) TgFER i % A9 @ )
_ (b) WgHeR wEders 2, Prw a7 wE
o e Tty & )
(b) T () TgFeR wfesd B g ¥ FWEA T
T 9
(c) W ()
(d) S ToRE TSE & U S o, AghaR
(d) | (W) HF T A oA 3
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1. Henry T. Colebrooke was a Profeasor of
Sanskrit in which one of the following
msbitutions?

fz} Fort William College
b} Serampore Mission
fu) Hashi Vidyapith

fcd] Asilatie Society

2. The Deccan Agriculturalists® Relief Act of
1879 was enacted with which one of the
following objectives?

fa) Restore lands to the dispossessed
peasants

{b} Ensure [nancial assistance to
peasants during social and
religious occasions

fe) Restrict the sale of land for
indebtedness to outsiders

{d) Give legal aid to insolvent peasants

3. The Damin-i-Koh was created by the
Hritish Government to settle which one
of the following communities?

fa) Santals
b} Mundas

fc) Oraons

jd) Saocras

DFGT-5-HTG/B2A

4. The Limitation Law, which was passed by
the British in 1859, addressed which
one of the following issues?

fa) Loan bonds would not have any
legal validity,

(&) Loan bonds signed between money-
lender and Ryots would have
validity only for three vears.

fe) Land bonds could not be executed
by moneylenders.

{d] Loan bonds would have validity for

ten years,

B. Who among the following was known

during the days of the Revolt of 1857 as
Danka Shah™?

(a} Shah Mal
(b} Maulavi Ahmadullalh Shah
fc) Nana Sahib
{d} Tantia Tope
6. The Bummary Settlement of 1856 was

baged on which one of the following
assumptions?

fa) The Talukdars were the rightful
owners of the land.

fi} The Talukdars were interlopers with
no permanent stakes in the land,

fe} The Talukdars ecould evict the
peasants from the lands.

fd) The Talukdars would take a portion
of the revenue which flowed to the
State.

| PT.C.
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7. 1990 # oA uftyg %1 ufee fea

g wRfd w T ot
(@) &I A

(b) FEHTA AR

(c) T=HAR ™M

(d) G ST

8. Tl =mel SAyE =EIfUE & SHRY # ®

F % fou feafafad 3§ 4 a6 fz srh f
STl &7

(a) T
(b) ufemy
(c) wferEFR-g=n (F1 TW2)
(d) Feauo

9. 9 & dfaum $i snumyg wEA #§ gfEd

0 H uhe F wey A Fefefes & @
FH-91 /8 9 GE 2/R7

1. I8 |ae @i wuigd = o wii & s
(ufefer) & 9t &)

2. 98 SHd1 & g1 diEuE g9 ° yfafaie
F oemg g wEE S o 9l B

3. 98 H®e 1 wigurh wifwal ¥ sHaia
wfhe 21

F= fow mu 2+ wEm #= wE IWm g
fa) 1 3R 3
(b) 1312
(c) Hae 1
(d) 233

DFGT-5-HTG/52A

10. 5= TG $ IgEN U=eH (H9EE) 8

A, 99 Fefefas § 4 8 saeEsy
orget 9ft @ el F wads & fou
ETeE § 9H & AER et wa 27

(a) ATTB7 20 ¥R 7F=I% 21
(b) FT=de 21 3 7= 22
fc) FT=9e 19 3N HT=s 20
(d) Fg=de 15 3R ag=ds 16

11. WA & dfEgs & F=fefas @ @ $9-a@

Fg=oe g% Tuife =@ ¢ 5 059 9 3
TrNE FeAi, qeEl W EE-AE @
w4 | et oft s =t afsa =@ e =0
Hehal &7

(@) A3 14

(b) T2 15

(c) =T 16

(d) =T 17

12. sfaw wRd siggfaa sifa 59 %1 &9 | o

werrfira fan?

() T g

(b) ARAR

fc) o Ao =E

(d) THo THo FHEUHIY
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7. The Inter-State Council was set up in

1990 on the recommendation of
fa) Punchhi Commission

(b) Sarkaria Commission

{c) Rajamannar Commission

(d} Mungerilal Commission

8. Which among the following writs is

issued to quash the order of a Court or
Tribunal?

(a) Mandamus
(b) Prohibition
e/ Quo Warranto

(d) Certiorari

9. Which among the following statements

about the power to change the basic
structure of the Constitution of India
is/are correct?

1. It falls outside the scope of the
amending powers of the
Parliament.

2. It can be exercised by the people
through representatives in a
Constituent Assembly.

3. It falls within the constituent
powers of the Parliament.

Select the correct answer using the code
given below.

@ 1 and 3
(b) 1 and 2
(c) 1 only

(d) 2 and 3

DFGT-S-HTG/52A

10. When a Proclamation of Emergency is in
operation, the right to move a Court for
the enforcement of all Fundamental
Rights remains suspended, except

{a) Article 20 and Article 21
{b) Article 21 and Article 22
(c) Article 19 and Article 20

(d} Article 15 and Article 16

11. Which one of the following Articles of the
Constitution of India lays down that no
citizen can be denied the use of wells,
tanks and bathing Ghats maintained
out of State funds?

(a) Article 14
(b) Article 15
(c) Article 16

(d) Article 17

12. Who amongst the following organized the
All India Scheduled Castes Federation?

fa) Jvotiba Phule
(b} Periyar
fe) B. R. Ambedkar

(d) M. K. Karunanidhi

[ P.T.O.
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13. uia veH, A fsm sgm 2018 # gam, 16. TsE 7 @« = YR, 2018 FH A

foree wr-wEg 47 24 /72 W ga?
e wreed
(@) i L
(b) THo HEw =H 3R fae e
(b] oyl e (c) S ==
(c) WTEHIER (d)  EE 3R fie =e
(d) B9 (SAP) 17. U= ey wal fua 27
(a) Tafem
14, WHEEE U9 cVIGIL' HEHF 2 (b) =¥ 3R FIR

(a)mﬁmﬁﬁrﬂﬁaﬂ?ﬁﬁ

4-Fafin ufsen =1 ganfera & § (@ s
(b) < EeeA B werEn F faeg w=E 58: e e N
T S R
2 - E
(c) Amarfer &E1 8 FE-FE0 w2H e
(d) TaEfEs-am=g Tl 7 ey R gt (b) 15 s
¥ IgT & AR A CoR
- = (c) 15 T
(d) 15 IR
15. W ®
19. ¥ § FA F7 Tgen v @ R gfeew
(@) TFqE R T g A7
(b) WdE A TR W HR F ATedl T e (@) sreufa T
(b) Tifa= faerdl wme
(c) UF TeHTaTESR P,
(d) UF GAGH] @ s
DFGT-S-HTG/52A &
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13. PFaul Allen, who died in October 2018,
was the co-founder of

fa)

(&)

e

(e}

Oracle

IBM

Microsolt

SAP

14. The mobile app ‘eVIGIL' is helpful in

fez)

)

fe)

fed)

conducting free and fair
e-tendering process in government
offices

fighting against
public services

corfuption  in

removing — garbage from the

municipal areas

reporting violation of model code of
conduct in election-bound States

18. 'Prahaar’ is

fiz)

(b

fel

(d}

a battle tank

a surface-to-surface missile

an aircraft carrier

a submarine

DFGT-5-HTG/B2A

16. Whe among the following isfare the
recipient /recipienta of Rajiv Gandhi
Khel Ratna Award, 20187

fie)
(b
fe)
(i)

Virat Kohli
S. Mirabai Chanu and Virat Kohli
Meeraj Chopra

Hima Das and Neeraj Chopra

17. Pakyong Airport is located in

fa}
fby
ic)

fed)

Sikkim
Jammu and Kashmir
Arunachal Pradesh

Mizoram

18. The United Nations has been observing
International Day of Rural Women on

fal
(b
fel
(ci)

15th July
15th August
15th September

15th October

19. Who among the following is the first
Indinn to win Pulitser Prige?

fal
(b
fcl
fd)

Arundhati Roy
Gobind Behari Lal
Vijay Seshadri

Jhumpa Lahiri

[ B.T.O.
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20. Hry Fuh fFefafaa 4 @ g @ § s
87

(a) TTETS
(b) TremETEH
(c) TS
(d) =
21. @i & fam # fefafe 7 @ ¥9-@ o
oy TE 87

(@) F9dreR =1 w4 3 alEa § 9 "5aE
@ B 2

(b) s =i s FEa (wad) 9 w2
(c) IYHIEHT WeslH uTE U wwiEE B g

(d) TR TEGAT % = H HIE GG Tw
Al 2|

22. F=fafad § ¥ $19-91 w99 98 78 87

(@) & qoi IgEfE sifisas Bt B, A
IR I At R

(b) & o sl ged R, Him s
TR Bl 2

(c) = ol sy sl ®, H@im v
e Bl

(@ & qof IwEtien sifteran @}, Him
3 3fua i vh-gEt F Fuet A
2l

DFGT-S-HTG/52A

23. WS 9% % 91 # Fretefas sy w fawn

E1E L
1. e 9, 3yM (49) F AR I €

2. IOl IR 956, IHA-FHE g g
2l

3. T ICEEA 9% TH-E F A B
I | | FE-91/8 B GE 277
(a) e 1

(b) 1 3R 2

fc) 23m3

(d) FFa 3

24, % Tgw ISf FoA (SETEe-wiE H) 5 faw
T feferfaa Fuet @ faar iy

1. THF UF P Afead o 8l

2. IR F1 diftm afteE dm e
3. TEW U ShadE TEYE B 8
4. THE UH "HfeF @i g 2|

I H | FH-H FYd Gé 87
(@) Faa 1 3 2

(b) Fad 1, 2 3R 3

fc) “%ad 3 3K 4

(d 1,2,33R4
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20. Saurabh Chaudhary excels in which one
of the following sports?

(a) Archery
(b) Shooting
{c) Boxing
(d} Judo
21. Which one of the following is neot an
assumption in the law of demand?

{a) There are no changes in the taste
and preferences of consumers.

(b) Income of consumers remains
constant.

(c) Consumers  are
demonstration effect.

affected by

(d) There are no changes in the price of
substitute goods.

22. Which one of the following statements
is not correct?

(a) When total utility is maximum,
marginal utility is zero.

(b)) When total utility is decreasing,
marginal utility is negative.

() When total utility is increasing,
marginal utility is positive.

(d) When total utility is maximum,

marginal and average utility are
equal to each other.

DFGT-S-HTG/52A

23. Consider the following statements about
indifference curves :

1. Indifference curves are convex to
the origin.

2. Higher indifference curve represents
higher level of satisfaction.

3. Two indifference curves cut each
other.

Which of the statements given above
is/are correct?

fa) 1 only
(b) 1 and 2
fej 2 and 3

(d) 3 only

24. Consider the following statements about
a joint-stock company :

1. It has a legal existence.

2. There is limited liability of share-
holders.

3. It has a democratic management.
4. It has a collective ownership.

Which of the statements given above
are correct?

fa) 1 and 2 only
(b) 1, 2 and 3 only
fe} 3 and 4 only

(d 1,2, 3 and 4

[ P.T.O.
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25. S 1 GFg AYAl IART FH, T TG W

o fau o, 9w # guia: Pivea 8@ 8, &
AYfd (Feed) 9% B B

fa) &fe=
(b) R F AR TR T g g
fc) FEATER

(d) FRF AR TR o g gan

26. 1870 & 33 § wrat wiuarem #1 hyeey

(Fesirm) formr & e
(a) THo ¥z Fw fafew
(b) G FrEEsl FEAR EE
fc) TEEIHETH AT

(d) FaraTTh 2z

27. FoHd d WEhlell g@ene ® geifte S

of?

(@) &d BT HERHT aafE
(b) Foe Fafan

(c) BZH =EaTeEh

(d) T T

DFGT-S-HTG/52A

28. %9 g0dla wEs 3 98 aefea fe, Yo

% @ 6 wa = et e s aftsa &
st oot 58 W g e ¥ P @, 9@ gl
EalciDe o

fa) TERH i

(b) &8 % deX g 2

(c) e SR

(d) TETE 11 TETeh

29. &m0 ot 3 72 s9efEa fFn, o R

& =l oft sl -1 w2, 9wl o% T T
wiyew fig-wrg Tl sEl A oft, i @ =
ft freel smEmEEl i e Tl gRe
¥ 2 F AEEEa @ 27

(a) TerEy ST

(b) S-aufew dafiaw

fc) 4mE T

(d) ¥ So To THATE

30. &, ‘F}"I\‘f QE ﬁ'-?c_t{ﬁ (Flagues and

Peoples) 1 i@® $1H 27
(@) T=Fo Teio ATHH

(b) TS FHA

(c) 2fre T

(@) Tfeam w0 fa
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25. When some goods or productive factors 28. Which European ruler had observed,

are completely fixed in amount, “Bear in mind that the commerce of
regardless of price, the supply curve is India is the commerce of the world ... he
who can exclusively command it is the
: dictator of Europe”™?
(a) horizontal P

(a) Queen Victoria
{b) downward sloping to the right

(b) Peter the Great of Russia
(¢} wvertical

fe) Napoleon Bonaparte

(d) upward sloping to the right
(d) Gustav 11 Adolf

a i S tari \
- “fho dEmgnot e Dambay sRRIrRmnt 29. Which European traveller had observed,
in the 1870s?

“A Hindu woman can go anywhere

alone, even in the most crowded places,

(a) H. St. Clair Wilkins and she need never fear the impertinent
looks and jokes of idle loungers”?

{b) Sir Cowasjee Jehangir Readymoney
(a) Francois Bernier

fc) Purushottamdas Thakurdas (b) Jean-Baptiste Tavernier

(d) Nusserwanji Tata () Thomas Roe

(d) Abbe J. A. Dubois
27. Who was the founder of Mahakali
Pathshala in Calcutta?

30. Who was the author of the book, Plagues

(a) Her Holiness Mataji Maharani and' Peaples?

Tapaswini
(a) W. L. Thomas

ot -
(b) Sister Nivedita (B) Rachel Caracn

() Madame Blavatsky {c) David Cannadine

(d) Sarojini Naidu (d) William H. McNeill

DFGT-S-HTG/52A 11 [ P.T.O.
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31. TFu W aameEEl A 98 o B B ow 34. T Taurmies # faum oftwg % 3uey & wey

wgw fegm & e =1 fwfn ‘veg-rEm H ffefgs # 4 $9-1 wu9 wd =1d 27
T F HiEHis STEFR F T g0 R
Ffrer @ e T A B
" o (a) Lc] =4 § faum ufteg )
(b) Trell T=a % faum uftsg # weat 61 5@
(o) et e wem, faum @ § weei B ga gen
G R S * um-fourd & siftes 44 dvft)
(d) @ Fre (c) F geEd! 1 el s, sy Fe
i geatt 9 fimw 9 Felas-gat
g Fatfa )
32. -y HHe (FE-wE ) w= ,
Fefefiaa 3 9 g gz @ wefig 27 (d) Fo G==dt w1 Anedl 3w, =g # fFam
T EaE g fafftaa @
fa) s w0
(b) UsHife siftrRa 35. WA = HfEg™ % 9 1X § fre m fufor %
| SR, EEdl % AR #, Fetafen & @
(c) TS THESH FRET Pr-a1 v T4 27
(d) T FIIE ST (o) TR 6 At # TR T
o T foredlt Jamaa % w1wag = s9a g
weaet Faifaa fre s it smavgsa 2

33. 1947 & ¥AHY wEdaa IuEay g S T

qftads Frefafa a ?
- i (b) U1 fauriza =1 I® fvflg &7 =
fa) wH Hafm Gfaum w=F F=60 % fw e sftrr & & TorEl § swel F wE 9
R SfufEm, 1935 ® wwfE fw srggfea e, srggfea st s
T A1 afeensti F g amfia fen s s

@ |

(b) ¥WE =i S =1 wEw R
(c) W% d=a g 9§ ) @iy a w0

(c) T dfum & fmim @% @@ = W9 i, 3R 9EA WA §E A
Usg$e 41|
(d) T fursies Rl go temd ¥
(d) 9dE sy w1 wifgwtw wga wEE F esv/aEmien F fau
T - o1 I T T B
DFGT-S-HTG/52A 12
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31. Which Indian social theorist had argued

that the idea of a homogenized
Hinduism was constructed through
the ‘cultural arrogance of post-
enlightenment Europe™?

(a) Ashis Nandy

(b) Partha Chatterjee

(¢) T. K. Oommen

(d) Rajni Kothari

32. ‘Sub-prime crisis’ is a term associated

with which one of the following events?
(a) Economic recession

(b) Political instability

(e) Structural adjustment programmes

(d) Growing social inequality

33. Which one of the following is not a

change brought about by the Indian
Independence Act of 19477

(a) The Government of India Act, 1935
was amended to provide an interim
Constitution.

(b) India ceased to be a dependency.

(c) The Crown was the source of
authority till new Constitution was
framed.

(d) The Governor-General was the
constitutional head of Indian
Dominion.

DFGT-S-HTG/52A
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34. Which one of the following is not a

correct statement regarding the
provision of Legislative Council in the
State Legislature?

(a) The States of Bihar and Telangana
have Legislative Councils.

(b) The total number of members in
the Legislative Council of a State
shall not exceed one-third of the
total number of members in the
Legislative Assembly.

(c) One-twelfth of all members shall be
elected by electorates consisting of
local bodies and authorities.

(d) One-twelfth of all members shall be
elected by graduates residing in the
State.

35. Which one of the following is not correct

about the Panchayvats as laid down in
Part IX of the Constitution of India?

(a) The Chairperson of a Panchayat
needs to be directly elected by
people in order to exercise the right
to vote in the Panchayat meetings.

(b) The State Legislature has the
right to decide whether or not
offices of the Chairpersons in the
Panchayats are reserved for SCs,
STs or women.

f¢) Unless dissolved earlier, every
Panchayat continues for a period
of five years.

(d) The State Legislature may by
law make provisions for audit of
accounts of the Panchayats.

[P.T.O.
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36. IIERE Al ¥ an § Feafafas § 9§

FH-41 G T 7

fa) wwWe, &g g 99 wd sy, SF & =W
W ymrEfE AEnfiErl w1 e W
el 21

(b) T T % fom figew fee o saftwa
#1 T wEl a9 ot B gatua R
 fEEl it ste-ggae =rnfasm =
g&d |

(c) HHa F FHA g TG =FrEiE,
i H fadm gomem = F e,
afi el F aEivEn w5 Huatia w5
T &

(d) PR i T A AT i,
ufEms % o 3vEy = g &,
e 5y T4 % foru wew * fam off
e & |

37. % U am offeufs, fred wga-d st

Tei-gee g srodgn (gwen 99 IR
=t B, Feemrd B

(@) 3 (qof) wieenfia
(b) TR (wEr) wheEien
(¢) TG ufeEia

(d) SRR
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38. F=feifas a1t W fa=m Hifso .

1. 2017-18 % A wwa # gEedf
Heferd T R

2. wE-gedt gEefifa, S ol o9
afesl 1, 38 9 g == @

I7 | | TH-w/8 B W /R
(@) a1

(b) e 2

(¢) 1 3 2eHt

(d) Fd 1,98 2

39. frafafias & 4 $9- weewn 92 9=t & &5

et oft wm-omfy # =afte s9dm 39 =f 5
o, sgeren ganeEl, swh §5h W ufiens
o A91 39 =i = 20 |/ Al e e

(@) T 31/ grEega
(b) WY ITH YTHET
(e) SEA-IF UrdeqHl

(d) T Y STEHEETA

40. 51 TA1E -4 % FgER Vs B e @

(a) |91 | T
(b) EEE qid W
(c) WHTE HIM W

(d) =9 # @ qw
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36. Which one of the following is not correct 38. Consider the following statements :

t Admini tive Trib s? i . g .
aboy ministrative Tribunal 1. Inflation in India continued to be

moderate during 2017-18.

(a) The Parliament may by law 2.
constitute Administrative Tribunals
both at the Union and State levels.

There was significant reduction in
food inflation, particularly pulses
and vegetables during the period.

Which of the statements given above

(b) Tribunals may look into disputes is/are correct?
and complaints with respect to
recruitment and conditions of (a) 1 only

service of persons appointed to

2 onl
public services. ®) v

() Both 1 and 2

(c) Tribunals established by a law of
the Parliament can exclude the
jurisdiction of all Courts to allow
for special leave to appeal. 39, Which one of the following hypotheses

postulates that individual’s consumption
in any time period depends upon

(d) Neither 1 nor 2

fd) The law establishing the Tribunals resources available to the individual,
may provide for procedures rate of return on his capital and age of
including rules of evidence to be the individual?
followed.

(a) Absolute Income Hypothesis

(b) Relative Income Hypothesis

37. A market situation when many firms sell (c)
similar but not identical products is
termed as

Life Cycle Hypothesis

{d) Permanent Income Hypothesis

(a) perfect competition 40. According to John Maynard Keynes,
employment depends upon

(b) imperfect competition (a) aggregate demand

(b) aggregate supply
(c) monopolistic competition

{c) effective demand

(d) oligopoly (d) rate of interest

DFGT-S-HTG/52A 15 [ P.T.O.
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41. TR F Fefafigs 4 @ e fagm =0
ey vey farg g 7@l B mm @t

(a) HHEG =1 fHgE
(b) Tafewman =1 firgm
(c) Gfeaw = g
(d) TrsrERrdtg gatgan = fage
42. ForEy (Tenign) F 1 s F A
1 %7, Fra 3@ Il = o s w27
(@) A-TATRCEH
(b) ¥ FE-RyH
fc) ¥=1 &%
(d) = HA
43. 1854 F FmE-wmem AfufEm ¥ owrw
Fr=fefiaa 3 & =F-a1 gRomy fFeen?

(a) Todrl sashar e e mn 9w =
wd JEEn F wa # 98 Puifa s@
1 sl @ 3R Tem @ Tif
o= E |

(b) T8 fufEm 3 TsedEt ® S@-ma %
99 T AaTfEER i Hgafa E 4

(c) ETE-NU F AL & Ha9 § GgHA il A=
1 == fo

(d) =a-ua ) Fvig o 5 g afyen gdy
YU % 9T o7

DFGT-S5-HTG/B52A 16

44. 2007 ¥ WRA-sWiE TR (9om) awEd
% soia fefafas § 9 $9-m favg wive
T 1 en?

(@) WA % T o Tho-HId GUwd i

YA 'EZI:H"HTﬁ}?I A w1 AW
w8

(b) ¥ WeEE <9 H) WeE ¥ UF 9HEiE

(c)

A "= (Ted) 91 @1 wifysn ara &
I FEl & |

VA = AR T3 W ofan T8 s
=i |

(d) «Ta % TifefE () e FEE *

forma =1 s O

45. WA % AfEYR % e (WET) 959 & w9
ﬁ'l ‘.ﬂﬁr& §5m!|ﬁ|’4| TR F aﬁ ﬁ ﬁq‘ai?ﬁﬂ
¥ -8 FH 9d 87

1.

A % HfEuA ¥ fidEm 4 wefim
weEl fofE % fow w8 A4 I=am
=ETed = it % 3 qEe 9

FF T2 AN w1 F o@dEa 3
e R ¥ d9 I=e AEed &6
UF war diet g2

AT R HEAH & Uy § IH
forgama o)

q WA F TF ARAEEN =EY F A
|

12 faw T g w1 v = wd 3w g
(a) Fad 1 3R 2

(b)

1, 2 3R 3

fc) 334
(d 1,2 3R 4
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41. Which one of the following canons of 44. Which one of the following issues was

taxation was not advocated by Adam included in the Indo-US Nuclear
Smith? . Agreement of 20077
- India has ‘advance right to
C of equali (@) ,
ol i reprocess’ US-origin safeguarded
(b) Canon of certainty spent fuel.

(b) India did not have the right to build
a strategic fuel reserve with the help
of the other supplier countries.

() Canon of convenience

(d) Canon of fiscal adequacy
(c) India should not test a nuclear

device.
42. Which Arab scientist could be given the e
credit of christening the mathematical (d) The US_":"‘” impede the growth
discipline of algorithm? of India's nuclear weapons
programme,

fa) Al-Khwarizmi
45. Which of the following statements about

(b} 1bn al-Haytham Alladi Krishnaswami Ayyar, as a
drafting member of the Constitution of

(c¢) Ibn Rushd India, are correct?

(d) Tbn Sina 1. He favoured the 7role of the

Supreme Court n taking
important decisions related to the

43, Which one of the following developments intqrprctatinn of the Constitution of
took place because of the Kansas- India.
Nebraska Act of 18547 2. He felt that the Supreme Court had
to draw the line between liberty and
(a) The Missouri Compromise was social control.
Hpeala and peoflarsl S ReR e 3. He believed in the dominance of the
Nebraska were allowed to ; R
determine whether they should executive over the judiciary.
own slaves or not. 4. He favoured a dictatorial form of
governance.

(b)) The Act did not permit the
territories the right to vote over the
question of slavery.

Select the correct answer using the code
given below.

fa) 1 and 2 only
(e} The voice of the majority in regard

to the issue of slavery was muzzled. (b) 1,2 and 3
c) 3 and 4
(d) The Federal Government had the (c)
sole authority to decide on slavery. ({d 1, 2 and 4
DFGT-S-HTG/52A 17 | P.T.O.
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46. HY® U wRIETR wfd M w9

(Fefarfedl) % we v feafafgs 4 @
FA-8 B7

1. Terdsm

2. wifa gam

3. T g § Wi B @ T A W
=

fra fo 7y 32 = Wi W wd s gfny
(@) 1,2 3R 3
(b) Fad 2 3R 3
(c) Fae 133
(d) Fae 1 3R 2

47. figw <" "y far § fafafes § @ S92

a1 mfe &7

1. #F

[ERGEIL]

LEIECH

SEHTE

= few T 2 1 W = wd I ghn

ol

(@ 1374
(b) Faw 1 3R 2
fe) 1,2 3R3

[d) 2,334

DFGT-S-HTG/52A

. R RwE uw sAaida R, faes

gerRR Y Toad it 0 ¥ o ufteg 87
(a) T

(b) WHERE g IeasiA

(c) SR (WeTT)) T

(d) FH I9=M

49. ‘wifim whon’ Frrfirfian & A fra 2 A W

i

(@) =TETH % wfuwn
(b) wigensil & sifEn
fc) TG &1 HitER

(d) Wil § H

50. e fhgn Fefoflas § 4 fem e @

Hafya 87

(a) 4T 3 gEF TEIRET & =9 wiE e
AT

(b) WA § adfl ot waEl ¥ @y daEe
AR FH

fc) “wEE-a=w &9 0 fFwm f il
1 #ig1 I3

(d) e gl gHfEEa =
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46. Which of the following are the core 48. The ‘*Kyoto Protocol’ is an international

functions of the United Nations treaty that commits State parties to
multidimensional peacekeeping reduction in

operations?

1. Stabilization (a) poverty

2. Peace consolidation (b) greenhouse gases emission

3. To extend support to a losing State
in a war (c) nuclear armaments

Select the correct answer using the code
given below. (d) agricultural subsidy

fa 1,2 and 3

49, The Beijing Declaration’ is concerned
(b) 2 and 3 only with which one of the following issues?

fc/ 1 and 3 only fa) Rights of children

(d) 1 and 2 only (b} Rights of women

47. The South China Sea Dispute involves (c) Right to development
which of the following countries?

(d) Reduction of tariffs
1. China

2. Vietnam

50. The ‘Gujral Doctrine’ relates to which one

3. Malaysia of the following issues?
4. Indonesia

fa) Build trust between India and its

Select the correct answer using the code neighbours

given below.

fa) 1 and 4 (b) Initiate dialogue with all insurgent
groups in India

(b) 1 and 2 only

fe) Undertake development activities

c) 1,2 and 3 in Naxal-dominated areas
({d) 2, 3 and 4 (d) Ensure food security
DFGT-S5-HTG/52A 19 [ AP0
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51. g1 % gf-1 ¥ @y gafem fife @k 53. fafafan 7 & fem o= =1 o o whaw’

a1 % 99 R 52 w1 wdm w5 owd I B TE T S EhaT e f
LK
fa) 1
eI E-11
(e / =1op) (310] =1 WTER) (b) Cl
A. CH,F 1. fawfia auaed fc) S
B. HCHO 2. AgEHCThIE @ F
C. HCN 3. Bl ol
0, B % 54. Frefafas & ¥ fred veds wgE wEEEED
o HYg T8 87
() YEwiEE
(a) A B C D
T T (b) UfcEEs
(b) A B € D ’
2, 1 4 3 (c) s temgs
g A B € D ARATEE
.4 3 3 @
d A B C D
3 1 4 2 55, W=feiEa 1 9 19-91 S99 98l 781 27
ftram qEqu
52. el 7 i i s e it A 39 @ s W, BB
4 ¥ fou P=fefas § @ e wm R
e 27 b) = A H uRw, waka R
(@ Tt T segvil # gafar sn g% 2
(b) WIS FTHEA fc) 3] H1 Fhem waaw 39 waifve
HEqU] B B
fc) TR
(d) wierd vauo # @ E-gs ¥ 120° F
(d) Tr=mm IV T AT Bl B
DFGT-S-HTG/52A 20
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51. Match List-1 with List-Il and select the
correct answer using the code given

below the Lists :

List-1
(Compound/ Molecule)
A. CH,F
B. HCHO
C. HCN
D. NH,
Code :
(a) A B
2 4
(b) A B
2 1
fc) A B
3 4
(d) A B
3 1

52. Very small insoluble particles in a liquid
may be separated from it by using

fa) crystallization

14

2.

3. Trigonal pyramidal

4,

+ (Y

List-II

(Shape of Molecule)

Trigonal planar

Tetrahedral

Linear

w o

wo

(b) fractional distillation

(e) centrifugation

(d) decantation

DFGT-S5-HTG/52A

53. Which one of the following elements

cannot be detected by “Lassaigne’s
test”?

(@ 1

(b) Cl

(c) S

(d F

54. In which of the following, functional
group isomerism is not possible?

(a) Alcohols

(b) Aldehydes

{c) Alkyl halides

(d) Cyanides

55. Which one of the following statements is
not correct?

(a)

(b)

(c)

(d)

Fischer projection represents
the molecule in an eclipsed
conformation.

Newman  projection can  be
represented in eclipsed, staggered
and skew conformations.

Fischer projection of the molecule
is its most stable conformation.

In Sawhorse projections, the lines
are inclined at an angle of 120° to
each other.

[ P.T.O.

https://www.freshersnow.com/previous-year-question-papers/



56. AU 6 % Fyeigy % fou FH-91/4 HeE

T BT /En B /A7

(@) teETibETEETy o tfefs am
(b) FAriEH

(c) i 3R whiedEEs

(d) EHE SR wiHeEEEE

57. Frefafas § ¥ #F-w 0 (RVR) gyt &

gaiferes g 87

(a) T (Faftsr)
(b) I (STTeheH)
(c) TSI

(d) wifaa =i

58. BN HHsd & fyefafes @ 4 fFm m= =

FEHA AT 87
(@) I (7Z)
(b) Feeata (i)
(c) ¥ (W)

(d) 99 (FHR)

DFGT-5-HTG/52A
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59, T THEY 319 gHe, TH U FH HR @Y =il

I, 59 U A o W gEd W g, @A
THEHM (SU) WR FEi # 1 9 # de 9H
W (e mn @ & =0l =1 w9, 91 % W
H Y 7)

(a) T F THS T WR AU w0

(b) STl % g w1 W AfE B

(c) =fE Ay =i <41 @ ZHS T OUR SR
B

(d) T T FeEAE R R

60. 9% W, T8 a1 atw AT % e

FAM: Ayy, Ayig 091 Ay @ 9 T E, @
™ Tl % e wd wEy Feafafea 3 9
wH-91 27

(@ Ayy <Ar <Ay

(b) Ayy > Ayis > AR

fe) Ayy > AR > Ayis
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56. The monomer/monomers used for the
synthesis of Nylon 6 is/are

(a) hexamethylenediamine and adipic
acid

(b) caprolactam

fe) urea and formaldehyde

(d) phenol and formaldehyde

57. Which one among the following stars is
nearest to the earth?

fa) Sirius

(b) Arcturus

{c) Spica

(d) Proxima Centauri

58. Which of the following planets of our
solar system has least mass?

fa) Neptune

(b) Jupiter

(c/ Mars

(d) Mercury

DFGT-S-HTG/52A 23

59. Two identical solid pieces, one of gold

and other of silver, when immersed
completely in water exhibit equal
weights. When  weighed in air

(given that density of gold is greater
than that of silver)

{a) the gold piece will weigh more

(b) the silver piece will weigh more

(c) both silver and gold pieces weigh
equal

(d) weighing will depend on their
masses

60. If the wavelengths corresponding to

ultraviolet, visible and infrared
radiations are given as Ayy, Ayg
and A;p respectively, then which one
of the Ifollowing gives the correct
relationship among these wavelengths?

(d) Ayy <Ayis < AR

[ P.T.O.
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61. FrommEt B v w0k UF e AU U

W 100 kV F fGwam g @@ g 8
sz 3R i &t sifem e s v, T
v, & Preferiaa # & 9 -8 w=y wd 27
faj V>V

(b) Vp <V,

() Ve=Vp

(d) Tt =€t fem s awm

62. af2 31 ofkEii A @ B % &9 %1 F 0 = 0°

2,

fa) |A|+|B|=|A+B|

(b) |A|+|B|>|A+B|

4

(c) |A|+|B|<|A+B]

(d) |A|+|B|=|A-B

65. Toefi 118 & &7 = =t =1 FgM =+ o Fefefaa
H q FH-91 Fas Ioer g 27

(@) @l
(b) TRy
(c) Haash faasgas
(d) Tt g
66. F=fafaa # @ HH-w =, 9v # goshifas
fafyy w fnft g 27
(a) TR
(b) eI
(c) T
(d) FASIERT

67. F=fafaa 7 4 fah wilits aame (99e9) 3

o o fanifeds wwegan e 87
63. Fafaflas 4 @ sw-w +d f=w sad=h
STeTeRT ET0 WeqH R Era 27 (a) CEIMOE
(@) 7=t = oA (b) A thEE
(b) fefie = Geemo () ¥
(c) WEH F1 HyeETm

(d) FFIEH (ieuas)
(d) Vg gHE &1 gy

68. fr=fefian # & F=-w 7w, Faaardt witwi =

64. Trafafaa # & F-w FIf 76 T ¥9 § 87
U USSR & HUERTR &l 718 1 Hal 87
) ek (a) W AU YO
(b) TR (b) TftRm du STftm
fc) ETEEEM (c) gsT au Tge
(d) g (d) HRag F2
DFGT-S-HTG/52A 24
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61. An electron and a proton starting from 65. Which one of the following tissues is

rest get accelerated through potential responsible for increase of girth in the
difference of 100 kV. The final speeds of stem of a plant?
the electron and the proton are V, and
V, respectively. Which one of the (a) Tracheid
following relations is correct?
(b) Pericycle
(@) Ve >V >
®) V, <V, (c¢) Intercalary meristem
€) V.=V, (d) Lateral meristem

(d) Cannot be determined
66. Which one of the following organisms is

62. If two vectors A and B are at an dependent on saprophytic mode of
angle 8 # 0°, then nutrition?
(@) |A|+|B|=|A+B| fa) Agaricus
(b) |A|+|B|>|A+B| (b) Ulothrix
{c) Ricca

i

(c) |A|+|B|<|A+B|

(d) Cladophora

~b — —- =
(d) |A|+|B|=|A-B|
67. Which one of the following has a bilateral
63. Which one of the following functions is symmetry in its body organization?
not carried out by smooth endoplasmic .
reticulum? (@) Asterias
(a) Transport of materials {b) Sea anemone
(b) Synthesis of lipid (c) Nereis
fe) Synthesis of protein
(d) Echinus
{d) Synthesis of steroid hormone
64. Which one of the following cell organelles 68. Whif:h nrff: of the following pairs of
mainly functions as storehouse of animals is warm-blooded?

digestive enzymes?
¢ i (a) Crocodile and Ostrich

fa] Desmosome

(b) Ribosome (b) Hagfish and Dogfish

(¢) Lysosome (c) Tortoise and Ostrich
(d) Vacuoles (d) Peacock and Camel
DFGT-S-HTG/52A 25 [ P.T.O.
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69, wid F Frefafigs ¥ @ F9-w v, 509 S« 73, WM R % 9 # Peafafas @ @ S9-m

R FW TG 91g qEAH R 6 S | T &7
37T 27 (a) FEREPEE g0 %1 wessarde gieEes
@ o g 21
(b) IS HEHTR H gHA] HaAilush v
(b) S ST HT o T B
o # fem 2
(@) Temr=a S (d) & Wi wE TR e ) gEER e A
e el Hiftm 21
: , S S Bl
e mr‘gﬂ?? b R 74. goE-1 ® gE-11 & @y gafom i ik
SR ' gfedt % 2 2w M g2+ w@m W §E IW
(a) =HrafemE g
(b) e -1 -1
(=) (3mm=)
(e A, e 1. AR
(d) A B. wzZad 2. E A
C. 2= 3. 3@ (V)
71. SO 2011 % HIER ARG w1 Fefafaa | D, wfia 4. < ffor
¥ #H-91 U Haiites SeEEar 9ren 8f
Hhe
(@) N g A B € D
(b) fiysim 3 1 2 1
) A B C D
(c) WETEA 3 2 4 1
fc) A B C D
LR 1 4 2 3
d A B C D
72. 2 smfE * Frafafaa § @ e 3w & 1 2 #%. 3

R vt g & 75, f=fafan & & #F9-w, IEor-s=FAd
(a) Ta=i ¥ Temnl W e e 27
(b) st (@) <o
(b) =0
fe) TR (c) wh
(d) @it (d) EER
DFGT-S-HTG/52A 26
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69. Which one of the following States of India

is not covered by Flood Forecasting
Stations set up by the Central Water
Commission?

(a) Rajasthan
(b) Jammu and Kashmir
{e} Tripura

(d) Himachal Pradesh

70. The city of Cartagena, which is famous

for Protocol on Biosafety, is located in
(a) Colombia

(b) Venezuela

(c) Brazil

(d) Guyana

71. Which one among the following is the

most populated State in India as per
Census 20117

fa) Goa
(b)
(c)

(d)

Mizoram
Meghalaya

Sikkim

72. Which among the following countries of

South America does the Tropic of
Capricorn not pass through?

fa) Chile
(b) Bolivia |
(e) Paraguay

(d) Brazil

DFGT-S-HTG/52A
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73. Which one of the following is not cﬁrrect

74.

o oW

about Sargasso Sea?

(@)

It is characterized with anticyclonic
circulation of ocean currents.

(b) It records the highest salinity in

Atlantic Ocean.

It is located west of Gulf Stream
and east of Canary Current.

(c)

(d) It confined in gyre of calm and

motionless water,

Match List-1 with List=Il and select the

correct answer using the code given
below the Lists :

List-I List-IT

(City) (Product)
Detroit 1. Motorcar
Antwerp 2. Diamond cutting
Tokyo 3. Steel
Harbin 4. Shipbuilding
Code :
fa) A B C D

3 4 2 1
(b) A B C D

3 2 4 1
fc) A B C D

1 - 2 3
(d) A B C D

1 2 4 3

75. Which one of the following is not situated

on Varanasi-Kanyakumari National
Highway?

fa) Satna
(b) Rewa
fe) Katni
(d) Jabalpur

[ P.T.O.
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76. T4 @uise @ugw * T frafafaa & & 79. F=fafas § 8 $19-91/9 w9y Foq 8/87

78. = Tt @wh dad § T O '@ 98 W

Fide AT AHR S41C W@l & 3 Tma
B R, @ g f 3R dow e TR %
s o =1 B |l g7

(o) AOGHES (GHTEATRF)

(b) ie die Hie

(c) Giergfid

(d) T9gE (wHEfe)

DFGT-S-HTG/52A

FH-H 95 I9qw TE 27 o
(@) Baii gasfo TEEl (Fwe fe ) &
(b) G &
fe) Sk 4, H-TS
(d) g @ré |
‘ = few mu e w1 wEm W= owE I gy
77. aft Fd 9rg F ARl | T e ol
% st w8 w Fol foEE ¥ wRRE W (@ ¥ 134
Ferifua H, 9 §H TH0oe q99 9 ol ) 1,234
wFal 2| Fefafias § 4 $9-8 F99 W a3 ?
=} =grE #d 87 (c) 2,334
1 @ﬂffﬁﬂﬁﬁﬁéﬁﬁﬁ!ﬁiﬂiﬂﬁa (d)%:‘-:tﬁl
Bt 21
2. e fa ST FA@ WAl A At 80. fefi fa afwfEnm #, o°c W aG?
L] = -45kJ/mol 3R AH® = 90 kJ/mol T
3. po R ¥ fw wiw v & 78 7 7 5 AH® aur AS® AEE W fl
A el 2| # B, R Smaw aam w® ogm B ow
4. Trar ¥ = weR Iucey 729 §) st =a: @ 9 s 27
#1 f2u e w5z = v W g I IRy (@) 273 K
fa 1,2 3R 3 (b) 298 K
(b) “Haa 2 3 3 e
(c) 33N 4
T T (d 596 K

81. PCl; ¥ =1 f=mm B feftufie & wam

B | @ p T (SATHed) 1 qH A
(@) sp?
(b) sp*
fc) dsp?

(d) dsp®
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76. Which one of the following methods is 79. Which of the following is/are state

not suitable for wrban rainwater function/functions?
harvesting?
1. g+w
(a) Rooftop recharge pit 7
(b) Recharge wells W g
(c) Gully plug 4. H-TS

d) R
(ot Reghiange-tane Select the correct answer using the code

77. If one plots the tank irrigation in India g olow.

and superimposes it with map of

a) 1 and 4 onl
well irrigation, one may find that the @ 2

two are negatively related. Which of () 1,2 and 4
the following statements explain the
phenomenon? fe) 2,3 and 4
1. Tank irrigation predates well (d) 1 only
irrigation.
2. Tank irrigation is in the areas with 80. For a certain reaction, AG® = 45 kJ/mol

: ; et
impervious surface layers and AH® = -90 kJ/mol at 0 °C. What is

the minimum temperature at which
the reaction will become spontaneous,
4. Other forms of irrigation are not assuming that AH? and AS? are

available. independent of temperature?

3. Well irrigation requires sufficient
groundwater reserves.

Select the correct answer using the code

given below. i
fa) 1,2 and 3 (b) 298 K
fb) 2 and 3 only fc) 546 K
fc) 3 and 4 (d) 596 K
{d) 1 and 4
81. The PClg; omolecule has trigonal
78. When hot water is placed into an empty bipyramidal structure. Therefore, the
water bottle, the bottle keeps its shape hybridization of p orbitals should be
and does not soften. What type of 4
plastic is the water bottle made from? (@) sp
(@)} Thermoplastic (b) sp3
(b) PVC
(c) dspz
(e) Polyurethane
(d) Thermosetting (d) d$p3
DFGT-S-HTG/52A 29 ~ |PT.O.
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g82. et el gt FEem= (v, 6, o) 7 6, z-3i®

& ufta: g Fo F Al @ 9 o, x-A4
| a1 gan feiafa = =k e B 3@ ffa
§ P 1 y-ues e ver Frefa gm?

fa) Psinfsino
(b) Psinfcosa
fc) Pcosbsina

(d) PcosbBcosa

83. tF ey M ¥ fou Fefefes & | fR-m

FUA Tl AG oran a7
(@ Bt g sopedt ) 7fy wm a2

(b) @t g s A e S guE A
Bt &

(c) Tra sett 6 R =l = el R

(@ v F f= FE s 9a A6
T B

84, ANHSH =1 &7

(@) 9 ¥ TEGEY AR A AW A OTH
foy et (%)

(b) U@ TR H A A s R gl
gl | THEEY A8 B U

¢ TR dew F g i Am q T
ferarw smpfa

(@) =t & ar, wE o I 6 Rl %
FRY AH 7 T G fog aia

DFGT-S-HTG/52A
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85. ¥ # Fgm Fr=faiea # @ fegs fog o= 27

(a) WREE-TE TF 1 Hae GUHIGE S
(b) GFui wfdEe-oTE =56
(c) WiaES-oTd S 1 T TARY &

(d) IEE-a9 9% F YRy &% %
wWY-T1Y IF guey (wnfew) &

86. fodm WAl % =1 # Fefafaa § @ FF-w

Fuq gdt 7

(@) =R 3 OPE B %, S e
o 1 3ufem 2 2

(b) T&=F 4 WA €9 &, S Slo TWo Yo &
w1y G Few | e B R

() fe=m 3 9w @ &, < wwdwe #d
fafie & w1 dag B 2|

(@) fE=Em 3 9EE e §, S "gdEe A
FETEEeE & 919 F9E T €

87. THrERE % an § Fefafee 1 8 $R-w1 F99

w27

(a) AR o Hio F Iufya farefm Faw
HATFHISH 989 F HEal g, oA HEA
ERHATHEEES I TE |

(b) ¥Re oo Hio w1 FrEfEE, HiwdEH
3R FET EEeTTTEs, ST g8 T
R

(c) Mo ﬁa?ﬁa?ﬂmmﬁﬁq
TRATHETEE T8 T TEHA ¢

(d) BT e shn anee % o vgw
B #, 7 T35 i % =5 & R
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82. In spherical polar coordinates (y, 8, o),
8 denotes the polar angle around z-axis
and o denotes the azimuthal angle
raised from x-axis. Then the

y-component of P is given by

(a) PsinBsina
(b) PsinfBcosa
(¢) PcosBsina
(d) PcosBcosa
B3. For an ideal gas, which one of the

following statements does neot hold
true?

(a) The speed of all gas mo]eéules is
same,

(b) The kinetic energies of all gas
molecules are not same.

{¢) The potential energy of the gas
molecules is zero.

(d) There is no interactive force
between the molecules.

B4. What is a constellation?

(a) A particular pattern of equidistant
stars from the earth in the sky

(b) A particular pattern of stars that
may not be equidistant from the
earth in the sky

(e} A particular pattern of planets of
our solar system in the sky

(d) A particular pattern of stars,
planets and satellites in the sky
due to their position in the space
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85. The

(a)

(b)
(c)

(d)

Hooke’s law is valid for

only proportional region of the
stress-strain curve

entire stress-strain curve

entire elastic region of the stress-
strain curve

elastic as well as plastic region of
the stress-strain curve

86. Which one of the following statements
regarding histone proteins is correct?

(a)

(b)

(c)

(d)

Histones are proteins that

are present in mitochondrial
membrane.

Histones are proteins that are

present in nucleus in association
with DNA.

Histones are proteins associated
with lipids in the cytosol

Histones are proteins associated
with carbohydrates in the cytosol.

87. Which one of the following statements
regarding haemoglobin is correct?

(a)

(b)

(c)

(d)

Haemoglobin present in RBC can

carty only oxygen but not carbon
dioxide.

Haemoglobin of RBC can carry both
oxygen and carbon dioxide.

Haemoglobin of RBC can carry only
carbon dioxide.

Haemoglobin is only used for blood
clotting and not for carrying gases.

[ P.T.O.

https://www.freshersnow.com/previous-year-question-papers/



88. UH uIH gwwe #H wEW F WA w GE 91. =wam #1 we fadwa fFr=fafaa & & =0 @

wggFn, Frefafaa § @ #F9-w 27 T 27
i () iidmen =wara sfeef 9991 % ' g9fean
i g A g A =R & s o
SghaTd ST YaH1 6 FFTE F B
(b) sfirgeas Se—ame—FEm Ffaw— (b) TEFAE F W AM W AW H i@
A (313 1T W)’ FEd B
i gk (c) wEFaTT, H9a wHaE @il |4 B g o=
(c) wTA—3ifigeE o ﬁa;mq%m_m e e
(@ TR (3fE) vfte swmiada =swad
LR %, < v sl A e 9 &
gy

02. HaUdla IwEREd FE A (FETE
Jiftepe T sifimgsem) 1 geaed el

g9, Tr=fafiga § 4 =H-91 97 98 87 o 37
(a) afen, a%a § 309w € (@) & R
(b) afem, R A S A (b) T
. (c) g
(c) i, we (werd) F ureH @ 399 g B o

(d) Ffen, F2 o g | 3o w2
93. agHed™ Tud, Ed @ e warfad A E
frafafiaa § A -3, A F) wEwH w6

90. witg # f=fafaa § A - 79 9, ™ J w27
3 L (a) TR F HO T T F dewA g8 Aal
ko
(@) |
(b) ATYHETE FHI H1 FHE
allue ) T 2 wa sk sal @ I
AN AT GEH
(e) 2T k& {é |
(@) T fasm w ol TR W agdeEe A
(d) wegA Tt =) T
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88. Which one of the following is the correct
sequence of passage of light in a
compound microscope?

fa) Condenser—Objective lens—Eye-
piece—Body tube

(b) Objective lens—Condenser—Body
tube—Eyepiece

(c) Condenser—Objective lens—Body
tube—Eyepiece

({d) Eyepiece—Objective
tube—Mirror

lens—Body

89. Which one of the following statements is
correct?

fa) Urea is produced in liver.
(b) Urea is produced in blood.

(¢) Urea is produced from digestion of
starch.

(d) Urea is produced in lung and
kidney.

90. Which one of the following river valleys
of India is under the influence of
intensive gully erosion?

fa) Kosi
(b) Chambal
(c) Damodar

(d) Brahmaputra

DFGT-S5-HTG/52A

91. Which one of the following may be the
true characteristic of cyclones?

(a) Temperate cyclones move from
west to east with westerlies
whereas tropical cyclones follow
trade winds.

(b) The front side of cyclone is known
as the ‘eye of cyclone’.

fc) Cyclones possess a centre of high
pressure surrounded by closed
isobars.

(d) Hurricanes are well-known tropical
cyclones which develop over mid-
latitudes.

92. The Headquarters of the International
Tropical Timber Organization is located
at

(a) New Delhi
(b) Yokohama
(c) Madrid
(d) Jakarta
93. Atmospheric conditions are well-governed

by humidity. Which one among the
following may best define humidity?

(a) Form of suspended water droplets
caused by condensation

(b) Deposition of atmospheric moisture

(c) Almost microscopically small drops
of water condensed from and
suspended in air

(d) The moisture content of the
atmosphere at a particular time
and place

[ P.T.O.
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94. A el @ 29 (wrgilEa) snfear v 27 97. G- # - F wy gifem ik @R
Rl ¥ = Ry g = owEn W g W

(a) TGS LS
-1 Heft-11
(b) S (zher =t ) (szTE)
i - A. Taadfe 1. SR e
" B. T (FXN) 2. TTEE e
(d) ¥=ar vd FeEn foage c. femrdm 3. e He
D. wéE 4. iuae #@iE
95. Frferfaa & ¥ fra T 71 WA & = R ®e
=) g= # gfmfera =& fr = a? (@ A 113 g 1;
4
S ) A B C D
i 4 2 1 3
T ¢ A B C D
) : 3 1 2 4
d@ A B C D
i W 3 2 1 4
(d) At os, Trefiflga § & SH-81 Jaw, fEOF 9ETE
iR e AEEE F 9YE A 67
fa) 8° N &M
96. SV 2011 % AR AR B THEEN F (b) 10° N &
aﬂm;:;ﬁnﬁ-‘iﬁ:;;ﬁ;ﬁ{ﬁﬁﬁm () 12° N s@
= : (d) 13° N &
(a) TRt 90, W 115 km H @9 7ed R faafEms
areft =TT e aiEsEn w7
(b) FrE-Tg-Hea-aag (@ o Hie Fo
SN Y . (b) U 9 PR Al
(c) g
(d) Frea-S-grd-RE (d) e
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94. The Shompens are the vulnerable tribal
group of

fa] Jharkhand
(b) Odisha
(¢} West Bengal

(d) Andaman and Nicobar Islands

95. Which one of the following cities was not
included in the list of smart cities in
India?

fa) Silvassa

(b) Jorhat

(c) Itanagar

(d) Kavaratti

96. Find the correct arrangement of
the following wurban agglomerations
in descending.  order as per
their population size according to
Census 2011.

fa) Delhi-Mumbai-Kolkata—Chennai

(b) Mumbai-Delhi-Kolkata-Chennai

(c) Mumbai-Kolkata—-Delhi-Chennai

({d) Kolkata—Chennai-Mumbai-Delhi

DFGT-S-HTG/52A

97. Match List-I with List-1I and select the

correct answer using the code given
below the Lists :

List-I List-IT
(Type of Lake) (Example)
A. Tectonic 1. Lonar Lake
B. Crater 2. Gangabal Lake
C. Glacial 3. Purbasthali Lake
D. Fluvial 4. Bhimtal Lake
Code :
A "Byt D
o 1 2 3
i A B 6 D
4 2 1 3
fc) A B C D
3 i 2 4
a8 € -1
3 2 1 4

98. The Andaman group of islands and the
Nicobar group of islands are separated
by which one of the following latitudes?

(a) 8° N latitude
{b) 10° N latitude
fe) 12° N latitude
(d) 13° N latitude
99. Damanganga Reservoir Project with

about 115 km of minor canals and
distributaries is located in

(a) NCT

(b) Dadra and Nagar Haveli
(c) Puducherry

({d) Goa

[ P.T.O.
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100. = e fafide & g9y A Fefafas s9=i w

ﬁ?ﬂﬁ'ﬂ.:
1. Frge TAEY ¥ Wi W UE CHENS
0t & w9 § ke fea w0 2y

2. 9 gHEl § FHE e HA drell The
g 7l FE R

3. #w fewm fafiRe +1 geem O,
wEe A fEm R

o T | -/ R
(@) Fae 1

(b) Hae 1 3R 2

o) e 2 33

(@ 1,23Mm3

101. o ¥ Frm v g0 enfEf-ufim o

Fivd R R RS o s A
e o man?

(@) F&= HE@

(b) HZo Fo A
(c) o Teo JEE
(d) W fie

102. F=fafaa & & fFa Fem ga gaesEl e

TEd S T T siTan 27

(@) waTEE wETEE (o THo Hio)
(b) T R FEEA T

(c) Tom wareE

(d) wEr faer aReg (THo o Hio)
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103. i@ fuFa soft § yra % afsied 1R

firm % day § Fofafaas 4 8 $9-91 F91
ad 7

(a) 38 =9 2018 & Fafera fran |

(b) 3G Iged WRAT g T R R TN
(c) 38§ A E T T

(d) & WY TG FW A o0l

104. T¥g BE i & w9y ® frefafas 4 @

FA-|1 FUA Tl & 27
(@) Foht Tamo =9 2010 A g o)

(b) TE TETECO G AUl 94 &k HEm d
eifta amel & gwE 3R oy fFgem 3
it B

(c) a& =afrdl 3in wafdl 5 g o &
forg, wea @i gaEsn 31 W fER W
T B

(d) a8 Tafew whea dfean, 1008 % wed
Tauifa wfFmat @ dwm 3

105. s i #vii 59 ¥ Fay |, IE & ElEuE

¥ Suedt % an o, f=fafgs § @ #R-w
Fu HEl TE 87

(@ = H Aifa & FRvw = w8
B 2

(b) TSR, i au Ff F wEY § U
F et fafagl = =8 35A ¥9
T wiftrsn yem =@ )

(c) =a% 19(1)(f) 1 I e w2

(d T4 % HEgm % dueR % fou
HIws 368 WA 7€ &
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100. Consider the

following statements
relating to Coal India Limited :

1. It is designated as a ‘Maha Ratna’
company under the Ministry of
Coal.

2. It is the single largest coal-
producing company in the world.

3. The Headquarters of Coal India
Limited is located at Ranchi,
Jharkhand,

Which of the statements given above
is/are correct?

fa) 1 only

(b) 1 and 2 only
fe)] 2 and 3 only
(d) 1, 2 and 3

101. Afro-Asian solidarity as a central element

of India’s foreign policy was initiated by
which of the following Prime Ministers?

(a) Narendra Modi
(b) 1. K. Gujral

e) J. L. Nehru

f{d) Manmohan Singh

102. The Prime Minister’s National Relief Fund

is operated by which one of the following
bodies?

fa) The Prime Minister’s Office (PMO)

(b) The National Disaster Management
Authority

(e} The Ministry of Finance

(d} The National Development Council
(NDC)

DFGT-5-HTG/52A
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103. Which one of the following statements

with regard to India’s surgical strike
mission inside Pakistan Occupied
Kashmir is correct?

(a) It was conducted in the year 2018,
(b) It was led by the Indian Air Force.
(¢) It was not given any name,

(d) It was sanctioned by the United
Nations.

104. Which one of the following statements

about the National Green Tribunal is
not correct?

(@) It was set up in the year 2010.
(b) It is involved in effective and

expeditious disposal of cases
relating to environmental
protection and conservation of
forests.

(e) 1t may consider giving relief and
compensation for damages to
persons and property.

(d) 1t is bound by the procedures laid
down wunder the Code of Civil
Procedure, 1908.

105. Which one of the following statements

about the provisions of the Constitution
of India with regard to the State of
Jammu and Kashmir is not correct?

(a) The Directive Principles of State
Policy do not apply.

(b) Article 35A gives some special rights
to the permanent residents of the

State with regard to employment,
settlement and property.

(c) Article 19(1)(f) has been omitted.

(d) Article 368 is not applicable for
the amendment of Constitution of
the State.

P70
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106. 1921 1, fr=fufaa & & fem wm & <A 109. G-I # -1 F Wy gafda A dw

T ¥ e R dew fom s ol it % 4= e o 2 w1 oW WA W
(FiEY) Te Ry S fen @i 3 e ¥ T ;
YUged TEH A1 Hh ¢
-1 -1
fe); RIS (vra) (gr)
(b) =T A, TR EEEE 1. SEEend A8 U
m; Sfa;-j:
(c) == 1889-1947
B. wagg! e 2. WY Tl Z e g
(4] R e ﬁ%@?aﬁﬁiﬁs@m
C. 3y wigha 3. 7 003l 3% § HAE
107. Frefafes & @ fow 7g ¥ 2w B & fam, g s,
mﬁﬁimmﬁﬂmmﬂ?@%ﬁﬂ, 1926-1934
g WE F w9 § W 9 % fau : IR Sl a——,
T () SR % w9 & fwen B w@E D. A * wﬂ
1 87
(@) TA-TT= T8 e
fa) A B C D
(b) Tel-=Hl T4 2 &% 1 B
‘) A B C D
(c) Trl-TE T 2 1 4 3
£l A B € D
(d) Teh-AFTH & 3 1 4 2
(4 A B C D
3 4 1 3B

108. Tafem wie # o osifag 3 3w wifdem =
fidty e o o a1 “gfeem o9 9@ SR 110. ‘D e F 9 89§ Te9 18 Tl %

feeg Tt el 37 00% ¥ s sfERt ¥ Rrgdem-glaa
o Tor 3) fefefas § @ FR-w U 7 |
(@) EH HFA TFRR TH —
(b) Tt 79@ @ (a) hﬁ
(b) =E
(c) Ve FE FAW ARG 0w B o
(d) T e fhead (d) T WaT
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106. In 1921, during which one of the 109. Match List-1 with List-II and select the

following tours, Gandhiji shaved his correct answer using the code given
head and began wearing loincloth in below the Lists :
order to identify with the poor?
List-I List-IT
(@) Ahmadabad o Book)
A. Sekhar 1. Jawaharlal Nehru :
(b) Champaran Bandyopadhyay A Biography, Vol-],
18891947
(¢/ Chauri Chaura B. Sarvepalli Gopal 2. From Plassey to
Partition : A History
(d) South India of Modern India

C. David Hardiman 3. The Ascendancy of

the Congress in
107. Simla was founded as a hill station to use Uttar Pradesh,

as strategic place for billeting troops, 1926-1934
guarding frontier and launching

campaign during the course of D. Gyanendra 4. Gandhi in His Time
Pandey and Ours
fa) Anglo-Maratha War Code :
A B C D
Anglo-Bu se War (a)
(2 ~RElo-Burme 2 4 1 3
(e} Anglo-Gurkha War (b) A B c b
2 1 4 3
(d) Anglo-Afghan War () A B c D
3 1 4 2
il & B € D
108. Which politician in British India had 3 4 1 2

opposed to a Pakistan that would mean
“Muslim Raj here and Hindu Raj 110. Eight States have achieved more than

elsewhere™? 99% household electrification prior to
the launch of ‘Saubhagya Scheme’,
(a) Khan Abdul Ghaffar Khan Which one of the following is not among
them?
(b) Sikandar Hayat Khan fa) Kerala
(b) Punjab
fc) Maulana Abul Kalam Azad
(¢) Himachal Pradesh
(d) Rafi Ahmed Kidwai (d) Madhya Pradesh
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111. 3 2018 #, wra = fHad @@ % fog

T TP AFE AUHR IRYg F W w9 A
fatfea e mn?

(a) CIcEL]
(b) =4
(c) dH EL

(d) = ad

112. wRdE ey gEwtes &9 358 =0 (Ao die

flo 3mg0) % =it #§ Frmfefas Fui ® fEw
Fifem :

1, Fe waEEl aRdE se-sihfa ofese
(fte o o FHo Hlo) H FET=A
T R

2. g dmik TEww sfufEm, 1860
F o v wad dEER F § A

giiEd 8|
9w § ¥ FH-91/8 FU T 8/87
fa) Fad 1
(b) FIE 2
€ 1323

(d A@ 1,382
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113. WIH OUHR R HAAY I T UF qeE % AR

Forerferfiga Hut W fomm Fif

gEEE ¥ 4N G g ¥ad # &
fore ot 60 9 3fR F@@ s 1 Y F
g ® FE WS HE H AR q
g & FOT g arcdl Wil fae # faeg
graor 3 % forg 9w JieAT AR &l ot 98
qioT afg FE & oY garEaer E g
1 gd T 2, & wndg siaq @ A
(Tefo 3Be Hle 3Tge) H @R TR T
sEfa swem Uk @ g2 gu ghfeud
Fyr/afaeTy & Sy % Je & ghar 21

Tq TS I TR

() T TR G TS

(b) WEFEH F9 d& 1 A

(c) Sham-Tor (frafafedt) e Fiwn
(d) TE™ FHH A

114. M § g siid 3@ Hems d@w

(2018) & WA F1 4 % H TEA @Yl TEH
T § fred st

(@) <ol
(b) vt Feenaa
(c) S wERFM
(d) T Fam

115. FiFw-fEE F & o Heo IHH 3=

P geeki fres g wem T s 27
(@) P T FH FAW T

(b) 7 N Ay FA A

(c) @A TE UfER FHedm T

(d) wETET, 9 U Searg TiEdd e
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111.

112.

In October 2018, India was elected as a
member to the United Nations Human
Rights Council for a period of

fa) five years

(b) four years

fe) three years

(d) two vears

Consider the following statements
about the Bureau of Pharma PSUs of
India (BPPI) :

1. It is the implementing agency of
Pradhan Mantri Bhartiya
Janaushadhi Pariyojana (FMBJP).

2. It has been registered as an
independent society wunder the
Societies Registration Act, 1860.

Which of the statements given above
is/are correct?

fa)j 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2
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113. Consider the following statements about

a scheme launched by the Government
of India :

It was launched to provide social security
during old age and to protect elderly
persons aged 60 years and abouve
against a future fall in their interest
income due to uncertain market
conditions. The scheme enables old age
income security for senior citizens
through provision of assured pension/
return linked to the subscription amount
based on government guarantee to Life
Insurance Corporation of India (LICI).

Identify the scheme.

fa) Pradhan Mantri
Suraksha Yojana

(b) Pradhan Mantri Vaya Vandana
Yojana

Swasthya

{c) Liveability Index Programme
(d) Rashtriya Vayoshri Yojana

114. Who among the following won India’s

first ever gold medal in the
International Youth Olympic Games
(2018) held in Argentina?

fa} Neeraj Chopra
{b) Praveen Chitravel
(¢) Jeremy Lalrinnunga

(d} Suraj Panwar

E. K. Janaki Ammal National Award on

Taxonomy is administered by the
(a) Ministry of
Farmers Welfare

Agriculture and

(b) Ministry of New and Renewable
Energy

fe) Ministry of Health and Family
Welfare

{d) Ministry of Environment, Forest
and Climate Change

[ P.T.O.
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116. WA & S WEET HEHE AT WH W

Frfafas § & FR-81 7w 9 gafeq T 27
(a) =TT I Hiew TR

(b) % Ufczess AR TFW A

(c) i o feFm o= @ o

(d) g sfeas fafaeh #ies . e

117 i R i N A e d i @gog &

o F=fafaa 3 & sR-w T (aEm)
InErft &7

(@) e feerm aw
(b) TuTE 9TEH
(c) &% AR

(d) GI-gevehr W fauy (Fe-te-wEy
Tesfrst ameed)

118. 2018 ¥=%, Fefafas & 4 f&= 2=

3
THRSHRTHS WM % a7 THE I H
s (39) 59 R 27

1. e

2. A8l

3. HrgsiiE
4., &9

# for ™ Fz = w@m = wE I ghu)
(@ 1,233
(b) wEE 2 3N 4
() Faa 1 3R 4
(d 1,234
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119. WHHEH SH HAM FET (e THe Fo To

arEe) % @y FEfafad 3 4 F9-9 87

1. wEwEs #H w9 | ud gl feg
I9e=Y B

2. ToEENYY WRem Afem fael aw
FEREd =i Freiea

3. vE 94 U gfEn ) 9w i n g
# 5,00,000 d% 1 9 HH Y=Y
HET ST

4, A-foemm I gad e T4 #
9 e T F=z =1 wwm | v 3w e
(@) Faa 1 dW 3

(b) 1,233

(e) Fad 2 3R 4

d) 2,3 3R 4

120. 2019 # 119 &8 (BRICS) firax @9ieq #i

A s g smofi?
(a) =

(b) ®F

(c) eI

(d) WTE
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116. Which one of the following pairs of
military training institute of India and
location is not correctly matched?

(a)
(b)

(c)

(d)

Army War College Mhow
High Altitude Gulmarg
Warfare School

Army Air Defence Pune
College

Rashtriya Indian Dehradun

Military College

117. Which one of the following viruses is
responsible for the recent death of lions
in Gir National Park?

(@)
(b)
(c)
(d)

118. Till

Canine Distemper Virus
Nipah Virus
Hendra Virus

Foot-and-Mouth Disease Virus

2018, which of the

following

countries have legalized the possession
and use of recreational cannabis?

1.
o
3.
4.

America
Canada
Nigeria

Uruguay

Select the correct answer using the code
given below.

(a)
(b)
(c)
(d)

1, 2 and 3
2 and 4 only
1 and 4 only

1, 2 and 4
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119. Which of the following are the benefits of

the Pradhan Mantri Jan Arogya Yojana
(PMJAY)?

1.

Free treatment available at all
public and empanelled private
hospitals in times of need

Cashless and paperless access to
quality health-care services

Government provides health
insurance cover of up to ¥ 5,00,000
per family per year

not

Pre-existing diseases

covered

are

Select the correct answer using the code
given below.

(a)

(b)

(c)

(@

1 and 3 only

1, 2 and 3

2 and 4 only

2, 3 and 4

120. The 11th BRICS Summit in 2019 will be
hosted by

(@

(b)

(©)

(d)

China

Russia

Brazil

India

[ P.T.O.
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121

34

[

3 TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

1"

2.

. You have to enter vour Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 30, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet,
All items carry equal marks.

Before vou proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.
. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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